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Ex1: What is the specific gravity of
aluminum if its density is 2700
kilogram/meter cubed?
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Derivation
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A balloon is immersed in a liquid

e The pressure

e The force on the object due to the pressure is directed K(?Q!d‘mto the surface of the

N 2y balloon. L.
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Example: What is the difference in pressure between the top and bottom of a

cylinder that is under water? The area of the top and bottom is 1.0 m’, the cylinder
is 2.0 m long with the top 1.5 m below the surface of the water.
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Note that under standard conditions air
pressure is:
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The hydrostatic pressure due to the liquid depends
only on the density of the liquid and the depth below ATMOSPHERIC PRESSURE
the surface. The shape of the container doesn’t matter

If the liquid in th
[same depth, same pressure at any point on the quid in the tank were open to the atmosphere,

then the total (or absolute) pressure at depth h, would
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Ex1. A 5mX4mX2m pool is full of water.
a. What is the hydrostatic pressure at the bottom of the surface? (Include atmospheric pressure)

b. How much force is applied on the bottom surface area of the pool?
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Example: What is the pressure at 35 m depth of water for average conditions? Do not neglect atmospheric pressure.
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PASCAL’S PRINCIPLE

States that when a pressure is applied to an enclosed fluid,
the pressure is transmitted undiminished to every point of the
fluid and to the walls of the containing vessel.

Pascal’s Principle: An increase in pressure

The force on the small piston is multiplied by...

The narrow piston must move a...

Exampvle: Suppose that the area of the small piston is 50cm?and it is pushed with a force of 50 N. How much
force is exerted upward by the large piston with an area of 2.0 m2?

VIDEO:
http://ia600409.us.archive.org/20/items/AP Physics B Lesson 21/Container.html
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